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CHLFD AP miH b UED) H PR RiH b CHLFD AXRFEE | #iH (GUED) AXFEE | miH ik
AHHHa—y 0 0 Ao 0 0 AfHa—) 0 0 Ao 0 0
R AE | Mo 62 —6| #B #R 2 3 | MfHa— 6,894 660 I ER S % | Mo 400 400] #B 4R = x| M- 8,308 2,584
s 62 -6 s 6,894 660 £t 400 400 i 8,308 2,584
HHa—L 349 -9 HHHa—L 1,997 255 HHa—L 380 82 HHHa—V 1,608 1,408
o 4R HEAH -V 9,841 627 M1 R | MEEfHa- 19,369 5,190 Mo #R | - 9,120 1,680 Hi 4R | EiHa-L 17,195 5,390
it 10,190 -636 it 21,366 5,445 &t 9,500 1,762 it 18,803 6,798
HiHa—pn 16,877 -805 HiHa—p 423 -43 HHHa—py 18,517 10,292 HHa—n 423 0
f§ #t e a— L 46,920 6,026] {3 Ft |MEHI-0 11,007 -3,768 g F& | M4z 47,574 6,746] 1§ Ft |[MEHa-0 10,000 -3,108
s 63,797 5,221 s 11,430  -3,811 £t 66,091 17,038 i 10,423 -3,108
%5 FHHa—v 14,461 -354] 9B -V 0 0 0)5) HiHa—n 16,294 10,892 |95 HHHa—L 0 0
(B 13) |- 35,123 3,067 # 13) | a2y 0 0 & 17) |-y 36,794 1,946 #F 13) | fEfEa—py 0 0
&t 49,584 2,713 it 0 0 &t 53,088 12,838 it 0 0
HHa—Y 0 0 IV 0 0 HHa—y 0 0 AHHa-v 0 0
s ER e o)y 423 181 4 4R | dmEfHo- 2,541 591 s R | - 120 1200 4+ &R |fE#Ha-0 3,650 3,500
s 423 181 s 2,541 591 £t 120 120 g 3,650 3,500
Hia—n 319 30 Hia—n 487 85 HHHa—n 300 300 HHHa—np 520 320
FoHgR | M- 1,286 -33| FEomngR | MmEfHa-v 2,599 -98 FoHgR | Mo 1,180 190] ZE2MngR | MEfHa—-L 1,000 174
it 1,605 -3 &t 3,086 -13 &t 1,480 490 7 1,520 494
HiHa—p 1,206 294 HHHa—pn 300 -40 FHHHa—n 540 -560 HiHa—p 300 0
544 | M-y 260 -10] fFavse | EEa-) 1,952 154 & e | EmHa—) 270 30| E4&tse | EHa-n 2,224 1,924
154 2t 1,466 284 54 =} 2,252 114 {54 =t 810 -530 54 B 2,524 1,924
AHHa—ny 0 0 AHHa—v 0 0 AHiHa—) 0 0 HfHa— 0 0
ERRAE | - 3,384 -538] MR | M- 0 0 BARKE | - 100 -100] BRI | MEHa- 0 0
it 3,384 -538 &t 0 0 &t 100 -100 &t 0 0
HiHa—pn 0 0 Hia—p 1,996 -405 HHHa—py 0 0 Hia—n 1,800 -600
RIESAR - GIEAR 3% | MEHHa—)) 90 A0RESR - FIEA 363 i a—)) 17,021 3,009 FIE 2« GIE 4 356y diEfH a— )L 140 T40FIES  FEA 353K M a— )1 16,047 -968
s 90 40 s 19,017 2,604 £t 140 140 i 17,847 -1,568
- 15 10 Hia—pn 0 -5 HHHa—n 150 0 -V 0 0
R R MEFH 2y 81 1 A #E R | EHa- 0 0 R R | -y 200 130 /& | EHa- 0 0
it 96 21 it 0 -5 &t 350 130 it 0 0
Hia—pn 0 -1 HiHa—p 175 26 HHHa—pn 0 0 HHa—) 400 400
D th M- )L 853 22| = o | MEHa-Y 1,817 -672 T Dt | EfHa—L 610 -60] = o fh | EHI—Y 1,290 -220
it 853 21 it 1,992 -646 &t 610 —60 it 1,690 180
HHHa—L 18,766 -481 HHHa—L 5,378 -127 HHa—L 19,887 10,114 HHHa—L 5,051 1,528
e Et EFHa—)L 63,200 5,066 # A FF | -y 63,200 5,066 e S i1 B 59,714 9,276 # A FF | Iy 59,714 9,276
it 81,966 4,585 it 68,578 4,939 #t 79,601 19,390 it 64,765 10,804
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